### EUROPEAN JOURNAL OF PURE AND APPLIED MATHEMATICS

Vol. 2, No. 2, 2009, (239-249) ISSN 1307-5543 – www.ejpam.com



# Subordination Results For Spirallike Functions

G. Murugusundaramoorthy<sup>1\*</sup> and N. Magesh<sup>2</sup>

<sup>1</sup> School of Science and Humanities, VIT University,
 Vellore - 632014, India
 <sup>2</sup> Department of Mathematics, Adhiyamaan College of Engineering,
 Hosur - 635109, India

**Abstract.** In this paper, we introduce a new class of functions which is defined by Dziok-Srivastava operator and obtain the subordination results for this class of functions. Some known and new results, which follow as special cases of our results, have also been mentioned.

### AMS subject classifications: 30C45

**Key words**: Univalent functions, starlike functions, convex functions, Spirallike functions, subordinating factor sequence, Hadamard product, generalized hypergeometric functions.

# 1. Introduction

Let A denote the class of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \tag{1.1}$$

http://www.ejpam.com 239 © 2009 EJPAM All rights reserved.

<sup>\*</sup>Corresponding author.

Email addresses: gmsmoorthy@yahoo.com (G. Murugusundaramoorthy),

nmagi\_2000@yahoo.co.in (N. Magesh)

G. Murugusundaramoorthy and N. Magesh / Eur. J. Pure Appl. Math, **2** (2009), (239-249) 240 which are analytic and univalent in the open disc  $U = \{z : |z| < 1\}$ . For functions  $f \in A$  given by (1.1) and  $g \in A$  given by  $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$ , we define the Hadamard product (or Convolution ) of f and g by

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n, \ z \in U.$$
 (1.2)

For complex parameters  $\alpha_1, \ldots, \alpha_l$  and  $\beta_1, \ldots, \beta_m$  ( $\beta_j \neq 0, -1, \ldots; j = 1, 2, \ldots, m$ ) the generalized hypergeometric function  $_l F_m(z)$  is defined by

$${}_{l}F_{m}(z) \equiv {}_{l}F_{m}(\alpha_{1}, \dots, \alpha_{l}; \beta_{1}, \dots, \beta_{m}; z) := \sum_{n=0}^{\infty} \frac{(\alpha_{1})_{n} \dots (\alpha_{l})_{n}}{(\beta_{1})_{n} \dots (\beta_{m})_{n}} \frac{z^{n}}{n!}$$
(1.3)  
$$(l \leq m+1; \ l, m \in N_{0} := N \cup \{0\}; z \in U)$$

where *N* denotes the set of all positive integers and  $(\alpha)_n$  is the Pochhammer symbol defined by

$$(\alpha)_{n} = \begin{cases} 1, & n = 0\\ \alpha(\alpha+1)(\alpha+2)\dots(\alpha+n-1), & n \in N. \end{cases}$$
(1.4)

Let  $H(\alpha_1, \ldots, \alpha_l; \beta_1, \ldots, \beta_m) : A \to A$  be a linear operator defined by

$$[(H(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m))(f)](z) := z {}_l F_m(\alpha_1, \alpha_2, \dots, \alpha_l; \beta_1, \beta_2, \dots, \beta_m; z) * f(z)$$
$$= z + \sum_{n=2}^{\infty} \Gamma_n a_n z^n$$
(1.5)

where

$$\Gamma_n = \frac{(\alpha_1)_{n-1} \dots (\alpha_l)_{n-1}}{(n-1)! (\beta_1)_{n-1} \dots (\beta_m)_{n-1}} .$$
(1.6)

For notational simplicity, we can use a shorter notation  $H_m^l[\alpha_1, \beta_1]$  for  $H(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m)$  in the sequel. The linear operator  $H_m^l[\alpha_1, \beta_1]$  is called Dziok-Srivastava operator (see [3]), includes (as its special cases) various other G. Murugusundaramoorthy and N. Magesh / Eur. J. Pure Appl. Math, 2 (2009), (239-249) 241
linear operators introduced and studied by Bernardi [1], Carlson and Shaffer [2],
Libera [4], Livingston [6], Ruscheweyh [7] and Srivastava-Owa [11].

For  $0 \le \lambda < 1$ ,  $0 \le \gamma < 1$  and  $\frac{-\pi}{2} < \eta < \frac{\pi}{2}$ , we let  $\mathbb{R}^{l}_{m}(\eta, \gamma, \lambda)$  be the subclass of *A* consisting of functions of the form (1.1) and satisfying the analytic criterion

$$\operatorname{Re}\left\{e^{i\eta}\frac{z(H_m^l[\alpha_1,\beta_1]f(z))'}{(1-\lambda)H_m^l[\alpha_1,\beta_1]f(z)+\lambda z(H_m^l[\alpha_1,\beta_1]f(z))'}\right\} > \gamma \cos\eta, \quad z \in U, \quad (1.7)$$

where  $H_m^l[\alpha_1, \beta_1]f(z)$  is given by (1.5).

Several known and new subclasses can be obtained from the class  $\mathbb{R}_{m}^{l}(\eta, \gamma, \lambda)$ , by suitably specializing the values of  $l, m, \alpha_{1}, \alpha_{2}, ..., \alpha_{l}, \beta_{1}, \beta_{2}, ..., \beta_{m}, \lambda, \gamma$  and  $\eta$ . We present below some of these subclasses of  $\mathbb{R}_{m}^{l}(\eta, \gamma, \lambda)$  consisting of functions of the form (1.1). We observe that

**Example 1.1.** If l = 2 and m = 1 with  $\alpha_1 = 1$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 1$  then

$$\mathbb{R}^{2}_{1}(\eta,\gamma,\lambda) \equiv \mathbb{S}(\eta,\gamma,\lambda)$$
$$:= \left\{ f \in A : \operatorname{Re} \left\{ e^{i\eta} \frac{zf'(z)}{(1-\lambda)f(z) + \lambda zf'(z)} \right\} > \gamma \cos \eta, \ |\eta| < \frac{\pi}{2}, \ 0 \le \gamma < 1, \ z \in U \right\}$$

Also  $\mathbb{R}^2_1(\eta,\gamma,0) \equiv \mathbb{S}(\eta,\gamma)$  denotes the  $\eta$ -spirallike functions of order  $\gamma$  studied by Libera [5]. Further  $\mathbb{R}^2_1(\eta,0,0) \equiv \mathbb{S}(\eta)$ ,  $|\eta| < \frac{\pi}{2}$ . Spacek [10] proved that the members of  $\mathbb{S}(\eta)$ , known as  $\eta$ -spirallike functions, are univalent in U.

**Example 1.2.** *If* l = 2 *and* m = 1 *with*  $\alpha_1 = \delta + 1(\delta > -1)$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 1$ , *then* 

$$\begin{split} \mathbb{R}_{1}^{2}(\eta,\gamma,\lambda) &\equiv \mathbb{D}_{\delta}(\eta,\gamma,\lambda) \\ &:= \left\{ f \in A : Re \; \left\{ e^{i\eta} \frac{z(D^{\delta}f(z))'}{(1-\lambda)D^{\delta}f(z) + \lambda z(D^{\delta}f(z))'} \right\} > \gamma \cos \eta, \\ &|\eta| < \frac{\pi}{2}, \; 0 \leq \gamma < 1, \; z \in U \right\}, \end{split}$$

where  $D^{\delta}f(z)$  is called Ruscheweyh derivative operator [7] defined by

$$D^{\delta}f(z) := \frac{z}{(1-z)^{\delta+1}} * f(z) \equiv H_1^2(\delta+1,1;1)f(z).$$

G. Murugusundaramoorthy and N. Magesh / Eur. J. Pure Appl. Math, **2** (2009), (239-249) 242 **Example 1.3.** If l = 2 and m = 1 with  $\alpha_1 = \mu + 1(\mu > -1)$ ,  $\alpha_2 = 1$ ,  $\beta_1 = \mu + 2$ , then

$$\mathbb{R}^{2}_{1}(\eta,\gamma,\lambda) \equiv B_{\mu}(\eta,\gamma,\lambda)$$
  
$$:= \left\{ f \in A : Re \left\{ e^{i\eta} \frac{z(J_{\mu}f(z))'}{(1-\lambda)J_{\mu}f(z) + \lambda z(J_{\mu}f(z))'} \right\} > \gamma \cos \eta, \ |\eta| < \frac{\pi}{2}, \\ 0 \leq \gamma < 1, \ z \in U \right\},$$

where  $J_{\mu}$  is a Bernardi operator [1] defined by

$$J_{\mu}f(z) := \frac{\mu+1}{z^{\mu}} \int_{0}^{z} t^{\mu-1}f(t)dt \equiv H_{1}^{2}(\mu+1,1;\mu+2)f(z).$$

Note that the operator  $J_1$  was studied earlier by Libera [4] and Livingston [6].

**Example 1.4.** *If* l = 2 *and* m = 1 *with*  $\alpha_1 = a (a > 0), \alpha_2 = 1, \beta_1 = c (c > 0)$ *, then* 

$$\begin{split} \mathbb{R}_{1}^{2}(\eta,\gamma,\lambda) &\equiv L_{c}^{a}(\eta,\gamma,\lambda) \\ &:= \left\{ f \in A : Re\left\{ e^{i\eta} \frac{z(L(a,c)f(z))'}{(1-\lambda)L(a,c)f(z) + \lambda z(L(a,c)f(z))'} \right\} > \gamma \cos \eta, \ |\eta| < \frac{\pi}{2} \\ &0 \leq \gamma < 1, \ z \in U \right\}, \end{split}$$

where L(a,c) is a well-known Carlson-Shaffer linear operator [2] defined by

$$L(a,c)f(z) := \left(\sum_{k=0}^{\infty} \frac{(a)_k}{(c)_k} z^{k+1}\right) * f(z) \equiv H_1^2(a,1;c)f(z)$$

The object of the present paper is to investigate the coefficient estimates and subordination properties for the class of functions  $\mathbb{R}_m^l(\eta, \gamma, \lambda)$ . Some interesting consequences of the results are also pointed out.

## 2. Main Results

To prove our results we need the following definitions and lemmas.

G. Murugusundaramoorthy and N. Magesh / Eur. J. Pure Appl. Math, 2 (2009), (239-249) 243 **Definition 2.1.** For analytic functions g and h with g(0) = h(0), g is said to be subordinate to h, denoted by  $g \prec h$ , if there exists an analytic function w such that w(0) = 0, |w(z)| < 1 and g(z) = h(w(z)), for all  $z \in U$ .

**Definition 2.2.** A sequence  $\{b_n\}_{n=1}^{\infty}$  of complex numbers is said to be a subordinating sequence if, whenever  $f(z) = \sum_{n=1}^{\infty} a_n z^n$ ,  $a_1 = 1$  is regular, univalent and convex in U, we have

$$\sum_{n=1}^{\infty} b_n a_n z^n \prec f(z), \ z \in U.$$
(2.1)

In 1961, Wilf [12] proved the following subordinating factor sequence.

**Lemma 2.1.** The sequence  $\{b_n\}_{n=1}^{\infty}$  is a subordinating factor sequence if and only if

$$Re\left\{1+2\sum_{n=1}^{\infty}b_nz^n\right\} > 0, \ z \in U.$$
(2.2)

Next we obtain the coefficient inequality theorem for the class  $\mathbb{R}_m^l(\eta, \gamma, \lambda)$ .

**Theorem 2.1.** A function f(z) of the form (1.1) is in  $\mathbb{R}^l_m(\eta, \gamma, \lambda)$  if

$$\sum_{n=2}^{\infty} [(1-\lambda)(n-1)\sec\eta + (1-\gamma)(1+n\lambda-\lambda)]\Gamma_n |a_n| \le 1-\gamma, \qquad (2.3)$$

where  $|\eta| < \frac{\pi}{2}$ ,  $0 \le \lambda < 1$ ,  $0 \le \gamma < 1$  and  $\Gamma_n$  is given by (1.6).

Proof. Suppose the inequality (2.3) holds true. Then we get,

$$\begin{aligned} \left| z(H_m^l[\alpha_1,\beta_1]f(z))' - [(1-\lambda)H_m^l[\alpha_1,\beta_1]f(z) + \lambda z(H_m^l[\alpha_1,\beta_1]f(z))'] \right| \\ &- (1-\gamma)\cos\eta \left| [(1-\lambda)H_m^l[\alpha_1,\beta_1]f(z) + \lambda z(H_m^l[\alpha_1,\beta_1]f(z))'] \right| \\ &\leq \left| \sum_{n=2}^{\infty} [(n-1)(1-\lambda)a_n\Gamma_n z^n] \right| - (1-\gamma)\cos\eta \left| z + \sum_{n=2}^{\infty} (1+n\lambda-\lambda)a_n\Gamma_n z^n \right| \\ &\leq \sum_{n=2}^{\infty} (n-1)(1-\lambda)|a_n|\Gamma_n|z|^n - (1-\gamma)\cos\eta |z| + \sum_{n=2}^{\infty} (1-\gamma)\cos\eta (1+n\lambda-\lambda)|a_n|\Gamma_n|z|^n \end{aligned}$$

G. Murugusundaramoorthy and N. Magesh / Eur. J. Pure Appl. Math, 2 (2009), (239-249) 244 By taking  $z \rightarrow 1$  on the real axis we obtain

$$\leq \sum_{n=2}^{\infty} [(n-1)(1-\lambda) + (1-\gamma)\cos\eta(1+n\lambda-\lambda)]|a_n|\Gamma_n - (1-\gamma)\cos\eta$$
  
$$\leq 0.$$

This completes the proof of the Theorem 2.1.

In the view of Examples 1.1 to 1.4, we state the following corollaries.

**Corollary 2.1.** A function f(z) of the form (1.1) is in  $\mathbb{S}(\eta, \gamma, \lambda)$  if

$$\sum_{n=2}^{\infty} \left[ (1-\lambda)(n-1) \sec \eta + (1-\gamma)(1+n\lambda-\lambda) \right] |a_n| \le 1-\gamma,$$

where  $|\eta| < \frac{\pi}{2}$ ,  $0 \le \lambda < 1$  and  $0 \le \gamma < 1$ .

**Remark 2.1.** We observe that Corollary 2.1, yields the result of Silverman [8] for the special values of  $\eta$ ,  $\lambda$  and  $\gamma$ .

**Corollary 2.2.** A function f(z) of the form (1.1) is in  $\mathbb{D}_{\delta}(\eta, \gamma, \lambda)$  if

$$\sum_{n=2}^{\infty} \left[ (1-\lambda)(n-1) \sec \eta + (1-\gamma)(1+n\lambda-\lambda) \right] \frac{(\delta+1)\dots(\delta+n-1)}{(n-1)!} |a_n| \le 1-\gamma,$$
  
where  $|\eta| < \frac{\pi}{2}, 0 \le \lambda < 1, 0 \le \gamma < 1$  and  $\delta > -1$ .

**Corollary 2.3.** A function f(z) of the form (1.1) is in  $B_{\mu}(\eta, \gamma, \lambda)$  if

$$\sum_{n=2}^{\infty} \left[ (1-\lambda)(n-1) \sec \eta + (1-\gamma)(1+n\lambda-\lambda) \right] \left( \frac{\mu+1}{\mu+n} \right) |a_n| \le 1-\gamma,$$

where  $|\eta| < \frac{\pi}{2}$ ,  $0 \le \lambda < 1$ ,  $0 \le \gamma < 1$  and  $\mu > -1$ .

**Corollary 2.4.** A function f(z) of the form (1.1) is in  $L^a_c(\eta, \gamma, \lambda)$  if

$$\sum_{n=2}^{\infty} \left[ (1-\lambda)(n-1) \sec \eta + (1-\gamma)(1+n\lambda-\lambda) \right] \frac{(a)_{n-1}}{(c)_{n-1}} |a_n| \le 1-\gamma,$$

where  $|\eta| < \frac{\pi}{2}, 0 \le \lambda < 1, 0 \le \gamma < 1$  and a > 0, c > 0.

G. Murugusundaramoorthy and N. Magesh / Eur. J. Pure Appl. Math, 2 (2009), (239-249) 245

Next we obtain the subordination result for the class  $\mathbb{R}_m^l(\eta, \gamma, \lambda)$ .

**Theorem 2.2.** Let  $f \in \mathbb{R}^l_m(\eta, \gamma, \lambda)$  and g(z) be any function in the usual class of convex functions *C*, then

$$\frac{((1-\lambda)\sec\eta + (1-\gamma)(1+\lambda))\Gamma_2}{2[1-\gamma + ((1-\lambda)\sec\eta + (1-\gamma)(1+\lambda))\Gamma_2]}(f*g)(z) \prec g(z)$$
(2.4)

where  $|\eta| < \frac{\pi}{2}$ ,  $0 \le \gamma < 1$ ;  $0 \le \lambda < 1$ , with

$$\Gamma_2 = \frac{\alpha_1 \dots \alpha_l}{\beta_1 \dots \beta_m} \tag{2.5}$$

and

$$Re \left\{ f(z) \right\} > -\frac{\left[1 - \gamma + \left((1 - \lambda) \sec \eta + (1 - \gamma)(1 + \lambda)\right)\Gamma_2\right]}{\left((1 - \lambda) \sec \eta + (1 - \gamma)(1 + \lambda)\right)\Gamma_2}, \quad z \in U.$$
(2.6)

The constant factor  $\frac{((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2}{2[1-\gamma + ((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2]}$  in (2.4) cannot be replaced by a larger number.

*Proof.* Let 
$$f \in \mathbb{R}^{l}_{m}(\eta, \gamma, \lambda)$$
 and suppose that  $g(z) = z + \sum_{n=2}^{\infty} c_{n} z^{n} \in C$ . Then

$$\frac{((1-\lambda)\sec\eta + (1-\gamma)(1+\lambda))\Gamma_2}{2[1-\gamma + ((1-\lambda)\sec\eta + (1-\gamma)(1+\lambda))\Gamma_2]}(f*g)(z) = \frac{((1-\lambda)\sec\eta + (1-\gamma)(1+\lambda))\Gamma_2}{2[1-\gamma + ((1-\lambda)\sec\eta + (1-\gamma)(1+\lambda))\Gamma_2]}\left(z + \sum_{n=2}^{\infty} c_n a_n z^n\right). \quad (2.7)$$

Thus, by Definition 2.2, the subordination result holds true if

$$\left\{\frac{((1-\lambda)\sec\eta+(1-\gamma)(1+\lambda))\Gamma_2}{2[1-\gamma+((1-\lambda)\sec\eta+(1-\gamma)(1+\lambda))\Gamma_2]}a_n\right\}_{n=1}^{\infty}$$

is a subordinating factor sequence, with  $a_1 = 1$ . In view of Lemma 2.1, this is equivalent to the following inequality

$$\operatorname{Re}\left\{1+\sum_{n=1}^{\infty}\frac{((1-\lambda)\sec\eta+(1-\gamma)(1+\lambda))\Gamma_{2}}{[1-\gamma+((1-\lambda)\sec\eta+(1-\gamma)(1+\lambda))\Gamma_{2}]}a_{n}z^{n}\right\}>0, \ z\in U. \quad (2.8)$$

G. Murugusundaramoorthy and N. Magesh / Eur. J. Pure Appl. Math, **2** (2009), (239-249) 246 By noting the fact that  $\frac{((1-\lambda)(n-1)\sec\eta+(1-\gamma)(1+n\lambda-\lambda))\Gamma_n}{(1-\gamma)}$  is increasing function for  $n \ge 2$  and in particular

$$\frac{((1-\lambda)\sec\eta + (1-\gamma)(1+\lambda))\Gamma_2}{(1-\gamma)} \le \frac{((1-\lambda)(n-1)\sec\eta + (1-\gamma)(1+n\lambda-\lambda))\Gamma_n}{(1-\gamma)},$$
$$n \ge 2, \ |\eta| < \frac{\pi}{2},$$

therefore, for |z| = r < 1, we have

$$\begin{split} & \operatorname{Re} \left\{ 1 + \frac{((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2}{[1-\gamma + ((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2]} \sum_{n=1}^{\infty} a_n z^n \right\} \\ & = \operatorname{Re} \left\{ 1 + \frac{((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2}{[1-\gamma + ((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2]} z + \right. \\ & \left. \frac{\sum_{n=2}^{\infty} ((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2 a_n z^n}{[1-\gamma + ((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2]} \right\} \\ & \geq 1 - \frac{((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2}{[1-\gamma + ((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2]} r \\ & \left. - \frac{1}{[1-\gamma + ((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2]} \right\} \\ & \sum_{n=2}^{\infty} ((1-\lambda)(n-1) \sec \eta + (1-\gamma)(1+n\lambda - \lambda))\Gamma_n |a_n| r^n \\ & \geq 1 - \frac{((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2}{[1-\gamma + ((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2]} r \\ & - \frac{1-\gamma}{[1-\gamma + ((1-\lambda) \sec \eta + (1-\gamma)(1+\lambda))\Gamma_2]} r \\ & > 0, \ |z| = r < 1, \end{split}$$

where we have also made use of the assertion (2.3) of Theorem 2.1. This evidently proves the inequality (2.8) and hence also the subordination result (2.4) asserted by Theorem 2.2. The inequality (2.6) follows from (2.4) by taking

$$g(z) = \frac{z}{1-z} = z + \sum_{n=2}^{\infty} z^n \in C.$$

G. Murugusundaramoorthy and N. Magesh / Eur. J. Pure Appl. Math, 2 (2009), (239-249)
247
Next we consider the function

$$F(z) := z - \frac{1 - \gamma}{((1 - \lambda) \sec \eta + (1 - \gamma)(1 + \lambda))\Gamma_2} z^2$$

where  $|\eta| < \frac{\pi}{2}$ ,  $0 \le \gamma < 1$ ,  $0 \le \lambda < 1$  and  $\Gamma_2$  is given by (2.5). Clearly  $F \in \mathbb{R}_m^l(\eta, \gamma, \lambda)$ . For this function (2.4)becomes

$$\frac{((1-\lambda)\sec\eta + (1-\gamma)(1+\lambda))\Gamma_2}{2[1-\gamma + ((1-\lambda)\sec\eta + (1-\gamma)(1+\lambda))\Gamma_2]}F(z) \prec \frac{z}{1-z}$$

It is easily verified that

$$\min\left\{\operatorname{Re}\left(\frac{((1-\lambda)\sec\eta+(1-\gamma)(1+\lambda))\Gamma_2}{2[1-\gamma+((1-\lambda)\sec\eta+(1-\gamma)(1+\lambda))\Gamma_2]}F(z)\right)\right\}=-\frac{1}{2}, \ z\in U.$$

This shows that the constant  $\frac{((1-\lambda)\sec\eta+(1-\gamma)(1+\lambda))\Gamma_2}{2[1-\gamma+((1-\lambda)\sec\eta+(1-\gamma)(1+\lambda))\Gamma_2]}$  cannot be replaced by any larger one.

By taking different choices of l, m,  $\alpha_1$ ,  $\alpha_2$ , ...,  $\alpha_l$ ,  $\beta_1$ ,  $\beta_2$ , ...,  $\beta_m$ ,  $\lambda$ ,  $\gamma$  and  $\eta$  in the above theorem and in view of the Examples 1 to 4 in Section 1, we state the following corollaries for the subclasses defined in those examples.

**Corollary 2.5.** *If*  $f \in S(\eta, \gamma, \lambda)$ *, then* 

$$\frac{(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)}{2[1-\gamma+(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)]}(f*g)(z) \prec g(z)$$
(2.9)

where  $|\eta| < \frac{\pi}{2}$ ,  $0 \le \gamma < 1$ ;  $0 \le \lambda < 1$ ,  $g \in C$  and

$$Re \left\{ f(z) \right\} > -\frac{\left[1 - \gamma + (1 - \lambda) \sec \eta + (1 - \gamma)(1 + \lambda)\right]}{(1 - \lambda) \sec \eta + (1 - \gamma)(1 + \lambda)}, \ z \in U$$

The constant factor  $\frac{(1-\lambda) \sec \eta + (1-\gamma)(1+\lambda)}{2[1-\gamma+(1-\lambda) \sec \eta + (1-\gamma)(1+\lambda)]}$  in (2.9) cannot be replaced by a larger one.

**Corollary 2.6.** *If*  $f \in \mathbb{D}_{\delta}(\eta, \gamma, \lambda)$ *, then* 

$$\frac{(\delta+1)[(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)]}{2[1-\gamma + (\delta+1)\{(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)\}]}(f*g)(z) \prec g(z),$$
(2.10)

G. Murugusundaramoorthy and N. Magesh / Eur. J. Pure Appl. Math, **2** (2009), (239-249) 2 where  $|\eta| < \frac{\pi}{2}$ ,  $0 \le \gamma < 1$ ;  $0 \le \lambda < 1$ ,  $\delta > -1$ ,  $g \in C$  and

$$Re \ \{f(z)\} > -\frac{[1 - \gamma + (\delta + 1)\{(1 - \lambda) \sec \eta + (1 - \gamma)(1 + \lambda)\}]}{(\delta + 1)[(1 - \lambda) \sec \eta + (1 - \gamma)(1 + \lambda)]}, \ z \in U$$

The constant factor  $\frac{(\delta+1)[(1-\lambda)\sec\eta+(1-\gamma)(1+\lambda)]}{2[1-\gamma+(\delta+1)\{(1-\lambda)\sec\eta+(1-\gamma)(1+\lambda)\}]}$  in (2.10) cannot be replaced by a larger one.

**Corollary 2.7.** If  $f \in B^*_{\mu}(\eta, \gamma, \lambda)$ , then

$$\frac{(\mu+1)[(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)]}{2[(\mu+2)(1-\gamma) + (\mu+1)\{(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)\}]}(f*g)(z) \prec g(z), (2.11)$$

where  $|\eta| < \frac{\pi}{2}$ ,  $0 \le \gamma < 1$ ;  $0 \le \lambda < 1$ ,  $\mu > -1$ ,  $g \in C$  and

$$Re \ \left\{ f(z) \right\} > -\frac{\left[ (\mu+2)(1-\gamma) + (\mu+1)\{(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)\} \right]}{(\mu+1)[(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)]}, \ z \in U.$$

The constant factor  $\frac{(\mu+1)[(1-\lambda) \sec \eta + (1-\gamma)(1+\lambda)]}{2[(\mu+2)(1-\gamma)+(\mu+1)\{(1-\lambda) \sec \eta + (1-\gamma)(1+\lambda)\}]}$  in (2.11) cannot be replaced by a larger one.

**Corollary 2.8.** If  $f \in L_c^{*a}(\eta, \gamma, \lambda)$ , then

$$\frac{a[(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)]}{2[c(1-\gamma) + a\{(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)\}]}(f*g)(z) \prec g(z),$$
(2.12)

where  $|\eta| < \frac{\pi}{2}, 0 \le \gamma < 1; 0 \le \lambda < 1, a > 0, c > 0, g \in C$  and

$$Re\{f(z)\} > -\frac{[c(1-\gamma) + a\{(1-\lambda) \sec \eta + (1-\gamma)(1+\lambda)\}]}{a[(1-\lambda) \sec \eta + (1-\gamma)(1+\lambda)]}, \ z \in U.$$

The constant factor

$$2[c(1-\gamma) + a\{(1-\lambda)\sec\eta + (1-\gamma)(1+\lambda)\}]$$

in (2.12) cannot be replaced by a larger one.

**Remark 2.2.** We observe that Corollary 2.5, yields the results obtained by Singh [9] for the special values of  $\lambda$ ,  $\gamma$  and  $\eta$ .

248

**ACKNOWLEDGEMENTS** The authors would like to thank the referee for his valuable comments and suggestions.

## References

- [1] S. D. Bernardi, *Convex and starlike univalent functions*, Trans. Amer. Math. Soc., 135, 429–446 (1969).
- B. C. Carlson and S. B. Shaffer, *Starlike and prestarlike hypergeometric functions*, SIAM J. Math. Anal., 15, 737–745 (2002).
- [3] J. Dziok and H. M. Srivastava, *Certain subclasses of analytic functions associated with the generalized hypergeometric function*, Intergral Transform Spec. Funct., 14, 7–18 (2003).
- [4] R. J. Libera, Some classes of regular univalent functions, Proc. Amer. Math. Soc., 16, 755– 758 (1965).
- [5] R. J. Libera, Univalent  $\alpha$ -spiral functions, Canad. J. Math., 19, 449–456 (1967).
- [6] A. E. Livingston, On the radius of univalence of certain analytic functions, Proc. Amer. Math. Soc., 17, 352–357 (1966).
- [7] St. Ruscheweyh, New criteria for univalent functions, Proc. Amer. Math. Soc., 49, 109– 115 (1975).
- [8] H. Silverman, Sufficient conditions for spiral-likeness, Inter. J. Math. Sci., 12, 4: 641–644 (1989).
- [9] S. Singh, A subordination theorem for spirallike functions, Internat. J. Math. and Math. Sci., 24, 7: 433–435 (2000).
- [10] L. Spacek, Contribution à la theorie des fonctions univalents, cas. Mat. Fys., 62, 2: 12–19 (1932).
- [11] H. M. Srivastava and S. Owa, Some characterization and distortion theorems involving fractional calculus, generalized hypergeometric functions, Hadamard products, linear operators and certain subclasses of analytic functions, Nagoya Math. J., 106, 1–28 (1987).
- [12] H. S. Wilf, Subordinating factor sequence for convex maps of the unit circle, Proc. Amer. Math. Soc., 12, 689–693 (1961).